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B & T 7 &M kE & | Keep your answers clear and concise. I they are not only incorrect but also insensible,
You may get a minus point for them,

4. (# 20 4, 5/ 10 4 ) Brazil, Mexico, Singapore, and Taiwan have been pnpuiar recently with
emerging-market investors. We have some refevant statistics of growth rates of real GDP (¥), capital () and
population (L) as follows:

Growth rate Brazil Mexico Singapore  Taiwan
Y 3.6 49 8.4 10.4
K 3.0 3.2 113 9.0
L 2.4 27 6.4 2.3

Growth rates are annual percentages for the period 1960 t0 1990.
(3. (10 4) We suppose a production function can describe the relationship between inputs and output for these
four economies, -

Y = AK™LY,
where 4 denotes the total factor productivity (TFP) and labor input is approximated by the population.
Comment on the growth experience of these four economies based on your numbers. Professor Krugman
has raisedt a controversial view that the Asian economic “miracle” was not due to TFP growth but rather to
intensive use of inputs. Do you agree or not with Kmigman's view, and why?
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(if). (¥ %) While they have experienced substantial economic growth, saving rates in Singapore and Taiwan
have been almost 30 percent in annual average, which is higher than most of other countries, during the
period 1960 to 1990
It is argued that the production function we assurae in (i} is not consistent with this empirical evidence. If
we instead assums a production function as

y=Ak
where y=Y/L and k=K/L. In this case, show that higher saving rate leads to permanently higher growth rate.

5. (20 4, %310 5) HMr. Chang is a wility-maximizing consumer with no borrowing constraints,
how would each of the following affect his current consumption and saving?
a:- (10 4} M. Chang is a taxpayer, and he read in the paper that the defense department announkes a
future reduction in government purchases of foreign arms. :
b. {10 4 ) Mi. Chang works in the computer industry. He realizes that some macroeconomists have
predicted that a serious world recession and tough foreign competition are going to drive down
personal computer sales,

[6. (10 4 ) Suppose our govemment consumption expenditure, such as the educational spending, has a one-time
increase, the government issues bonds to the young. When the bonds come due in the next period, they are
reissued to the young at that time in the amount of the initial principal. The interest is obtained by a tax on
the elderly at that time. The same procedure is followed in every subsequent period. What is the effect of
this fiscal policy on the per capita national cutput, personal saving, public saving, and national saving of our
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